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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question
paper.

2. Do any five questions.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Explain structure-conduct-performance frame work. Discuss its shortcomings.

(10+5)
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2.

What are Multinational Corporations ? Why do they exist ? Explain the ways to

regulate Multinational Corporations in India. (3+4+8)
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Discuss the characteristic features of Indian Small Scale Industries. Critically
evaluate the Indian Industrial Policy in context of problems faced by Small Scale

Industries. (5+10)
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What are the benefits of protections through patent ? In what ways Product
Patents and process patents are different from each other ? How do you think

patenting is essential for technical progress ? (5+5+5)
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Arrow argues that the incentive to invent is stronger for Competitive
Industries compared to Monopolist Industries. Explain with the help of suitable
diagram. - (5+5)
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(a) What do you understand by Economic efficiency ? What are its various

determinants ? (5+5)
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(b) Explain the concept of partial factor productivity. %)
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7. (a) Discuss the various factors which affect the location decision of

Industrialization. (7.5)

(b) Explain the remedial measures to mitigate the regional imbalances which was

a results of Indian Industrialization process. (7.5)

(%) stafimieRn & wm fulor @ gwfde &0 a0 il orel o =t
Edil

(@) 9Ra ¥ AAAET R AR D R I B de AT e R F
F & ITA F A H
8. Write short notes on any two :— (7.5+7.5)
(a) Lerner index as measure of monopoly power
(b) Role of Industrial Development in Economy’s Development
(c) Different motives of merger
(d) Role capacity utilization
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